

INTEGRATED DEGREE (Sciences)(PHYSICS), I-SEMESTER

Result Declaration Date: 06-Oct-2025 Notification No: 1896

AEC19: Technical Communication CS103: WEB DESIGNING IMSMA107: Mathematics 1 IMSPH101: Mathematical Physics-I IMSPH103: Introduction to Mechanics IMSPH105: Elements of Electricity and Magnetism VAC11: Leadership Through Self-Management

Sr.No	Roll No.	Name of	AEC19	CS103	IMSMA107	IMSPH101	IMSPH103	IMSPH105	VAC11	SGPA	тс	CGPA	Failed
31.140	11011 140.	Student	2.00	2.00	4.00	4.00	4.00	4.00	2.00	JULA	'	CGFA	Courses
1	24/IMSPHY/01	ASHISH RANJAN	Α	Α	Р	B+	B+	B+	A+	6.82	22	6.82	
2	24/IMSPHY/09	PRARTHNA BAWEJA	A+	A+	С	A	B+	Α	Α	7.45	22	7.45	
3	24/IMSPHY/12	RIYA	Α	Α	F	B+	A+	A+	A+	6.82	18	6.82	IMSMA107

AEC5 : Communication Skills CS103 : WEB DESIGNING IMSMA107 : Mathematics 1 IMSPH101 : Mathematical Physics-I IMSPH103 : Introduction to Mechanics IMSPH105 : Elements of Electricity and Magnetism VAC11 : Leadership Through Self-Management

Sr.No	Roll No.	Name of Student	AEC5 2.00	CS103 2.00	IMSMA107 4.00	IMSPH101 4.00	IMSPH103 4.00	IMSPH105 4.00	VAC11 2.00	SGPA	тс	CGPA	Failed Courses
4	24/IMSPHY/02	AYUSHI SINGH	A+	A	B+	A	A	A+	A	8.09	22	8.09	
5	24/IMSPHY/07	MANISH KHATREE	Α	0	В	Α	Α	Α	A+	7.25	22	7.25	AEC25n
6	24/IMSPHY/15	SARTHAK RANJAN	A+	A+	A+	A+	0	A+	B+	9.00	22	9.00	
7	24/IMSPHY/18	SAURAV KUMAR SINGH	A+	Α	С	B+	B+	B+	B+	6.91	22	6.91	
8	24/IMSPHY/20	TURANYA CHANDRA	Α	0	F	В	Р	B+	B+	5.36	18	5.36	IMSMA107

AEC5: Communication Skills IMSAC107: Basic Chemistry 1 IMSPH101: Mathematical Physics-I IMSPH103: Introduction to Mechanics IMSPH105: Elements of Electricity and Magnetism VAC11: Leadership Through Self-Management



INTEGRATED DEGREE (Sciences)(PHYSICS), I-SEMESTER

Result Declaration Date: 06-Oct-2025 Notification No: 1896

Sr.No	Roll No.	Name of	AEC5	IMSAC107	IMSPH101	IMSPH103	IMSPH105	VAC11	SGPA	TC	CGPA	Failed
31.140	11011 140.	Student	2.00	4.00	4.00	4.00	4.00	2.00	SGFA	10	CGFA	Courses
9	24/IMSPHY/03	BHAVYA	С	F	С	Р	В	В	3.73	16	3.73	IMSAC107

AEC5 : C	ommunication S	kills CS103:WEB DI	ESIGNING	G IMSMA	107 : Mathema	tics 1 IMSPH	103 : Introduction	on to Mech	nanics	IMSPH1	05 : Elements of Electricity and Magnetism
Sr.No	Roll No. Name of Student AEC5 CS103 IMSMA107 IMSPH103 IMSPH105 SGPA TC CGPA		CGDA	Failed Courses							
31.140	noii No.	Name of Student	2.00	2.00	4.00	4.00	4.00	SGFA	10	CGFA	Falled Courses
10	24/IMSPHY/05	MSPHY/05 HARSHIT		F	F	F	F	0.00	0		CS103 AEC5 IMSMA107 IMSPH103 IMSPH105

AEC5 : Communication Skills CS103 : WEB DESIGNING IMSAC107 : Basic Chemistry 1 IMSPH101 : Mathematical Physics-I IMSPH103 : Introduction to Mechanics IMSPH105 : Elements of Electricity and Magnetism VAC11 : Leadership Through Self-Management

Sr.No	Roll No.	Name of Student	AEC5	CS103	IMSAC107	IMSPH101	IMSPH103	IMSPH105	VAC11	SGPA	тс	CGPA	Failed
31.110	HOII NO.	Name of Student	2.00	2.00	4.00	4.00	4.00	4.00	2.00	JUPA	10	CGFA	Courses
11	24/IMSPHY/06	HIMANSHU BAGHEL	A+	A+	Р	С	P	P	B+	5.36	22	5.36	
12	24/IMSPHY/11	RAGHAV SHARMA	B+	A+	С	В	С	B+	B+	6.27	22	6.27	
13	24/IMSPHY/14	SARTHAK ARORA	A+	A+	F	В	Р	В	В	5.09	18	5.09	IMSAC107
14	24/IMSPHY/17	SAURABH	Α	Α	B+	Α	A+	A+	В	8.00	22	8.00	
15	24/IMSPHY/19	SMRITI SHARMA	A+	A+	С	В	С	В	Α	6.36	22	6.36	
16	24/IMSPHY/23	VIKAS DADHICH	A+	A+	В	A+	Α	0	B+	8.27	22	8.27	
17	24/IMSPHY/25	YOGITA	С	Α	Р	B+	В	B+	B+	6.18	22	6.18	

OIC (Results)

Controller of Examination



INTEGRATED DEGREE (Sciences)(PHYSICS), I-SEMESTER

Result Declaration Date: 06-Oct-2025 Notification No: 1896

AEC19: Technical Communication CH103: UNIT PROCESS IN ORGANIC SYNTHESIS IMSAC107: Basic Chemistry 1 IMSPH103: Introduction to Mechanics IMSPH105: Elements of Electricity and Magnetism VAC11: Leadership Through Self-Management

Sr.No	Roll No.	Name of Student	AEC19	CH103	IMSAC107	IMSPH103	IMSPH105	VAC11	SGPA	TC	CGPA	Failed	
31.110	Holl No.		Name of Student	Name of Student	2.00	2.00	4.00	4.00	4.00	2.00	SGFA	10	CGFA
18	24/IMSPHY/08	POORNIMA MISHRA	Α	F	В	Α	Α	Α	5.45	16	5.45	CH103	

AEC19: Technical Communication CS103: WEB DESIGNING IMSMA107: Mathematics 1 IMSPH103: Introduction to Mechanics IMSPH105: Elements of Electricity and Magnetism VAC11: Leadership Through Self-Management

Sr.No	Roll No.	Name of Student	AEC19	CS103	IMSMA107	IMSPH103	IMSPH105	VAC11	SGPA	тс	CGPA	Failed Courses
31.110	Holl No.	Name of Student	2.00	2.00	4.00	4.00	4.00	2.00	JUFA	10	CGFA	Falled Courses
19	1 2/1/IM/CDHV/10	PRATEEK CHOUDHARY	В	A+	F	F	С	С	2.31	10	2.31	IMSMA107 IMSPH103
20	24/IMSPHY/21	VANSH	B+	0	F	Р	В	В	3.31	14	3.31	IMSMA107

AEC5 : Co	mmunication Skill	s IMSPH103 : Introduc	tion to Med	hanics IMSPH	105 : Elements of	of Electricity	and Magnet	tism VA	C11: Lead	ership Through Self-Management
Sr.No	Roll No.	Name of Student	AEC5	IMSPH103	IMSPH105	VAC11	SGPA	тс	CGPA	Failed Courses
SI.NO	HOII NO.	Name of Student	2.00	4.00	4.00	2.00	SGFA	'C	CGFA	Falled Courses
21	21 24/IMSPHY/13 SAHIR SIDDIQUI		F	F	F	F	0.00	0		AEC5 VAC11 IMSPH103 IMSPH105

AEC5: Communication Skills CS103: WEB DESIGNING IMSMA107: Mathematics 1 IMSPH103: Introduction to Mechanics IMSPH105: Elements of Electricity and Magnetism VAC11: Leadership Through Self-Management



INTEGRATED DEGREE (Sciences)(PHYSICS), I-SEMESTER

Result Declaration Date: 06-Oct-2025 Notification No: 1896

Sr.No	Roll No.	Name of	AEC5	CS103	IMSMA107	IMSPH103	IMSPH105	VAC11	SGPA	тс	CGPA	Failed
31.140	11011140.	Student	2.00	2.00	4.00	4.00	4.00	2.00	JULA	10	CGFA	Courses
22	24/IMSPHY/16	SARTHAK SINGH	Α	0	B+	A+	A+	B+	5.77	18	5.77	

AEC19: Technical Communication CS103: WEB DESIGNING IMSAC107: Basic Chemistry 1 IMSPH101: Mathematical Physics-I IMSPH103: Introduction to Mechanics IMSPH105: Elements of Electricity and Magnetism VAC11: Leadership Through Self-Management

Sr.No	Roll No.	Name of	AEC19	CS103	IMSAC107	IMSPH101	IMSPH103	IMSPH105	VAC11	SGPA	TC	CGPA	Failed
31.140	HOII NO. Student	Student	2.00	2.00	4.00	4.00	4.00	4.00 4.00 2.00 SGPA		10	CGFA	Courses	
23	24/IMSPHY/24	YASH BISHT	Α	A+	С	В	В	В	Α	6.45	22	6.45	